Name Keul

Functions Test Review

Sketch a graph of the situation below and label each axis appropriately. Provide a
" written scenario that explains what your sketch is modeling.

1. Your height above the ground as you mount, jump on, and dismount a trampoline.
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2. The average temperature in Grand Rapids over the course of d year beginning in
January and ending in December
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3. The size of your feet from birth to adulthood. _
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4. Use the graph below to answer the following questions.

h

height (feet)

time (Seconds)
Fig. 22

(a) What was the height of the
diving board? WHY?

4 Fegt. At-Hint 0 e

¥ » A—
Wevr (vmped o f —He bow
4 l'l-kd ottued &t & ked(ht of

(b) When did the diver hit the 4.

water? WHY?
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(c) How deep did the diver get?

WHY? _
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(d) When did the diver return to the

| surface? WHY?
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5. Are the following scenarios representing function? Make sure you provide an

explanation for your reasoning.

SCENARIO

IS IT A FUNCTION?
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6. List the domain and ‘rhe‘r'ange of the following relation:
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7. List the domain and range of the following relation:
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8. Describe the domain and range of the following relation:
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9. List the domain and the range of the following relation:
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10. Match 3 of the following 6 graphs with their correct scenario below. For the
remaining 3 graphs, describe a situation that might model the graph.
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